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6. Outline the role of an accountant working for a small business. 
The essential role of an accountant is to provide managers with the information they need to maximise the entity’s financial performance, and may include several functions, including recording financial transactions, producing financial reports for the information of managers and other relevant 3rd parties. 

12. Define and explain the purpose of management accounting. 
The process of producing reports and providing useful financial information for decision-making purposes to the managers of an enterprise in the daily management of trading operations. 

13. Define and explain the purpose of financial accounting. 
The process of producing general purpose financial reports used by external parties such as shareholders, investors, lenders, suppliers, customers, employees and government. 
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14. List the main external users of financial accounts. 
Shareholders, investors, lenders, suppliers, customers, employees and government. 

15. What types of enterprises need to have their accounting systems and reports regulated? 
Public companies. This is to protect shareholders as they rely on these reports as their sole or main source of information to assist them in making economic decisions about that organisation (e.g., whether to buy, maintain or sell a shareholding in it). 


16. What is a ‘reporting entity’ as defined by SAC 1? Give two examples. 
An organisation that must comply with standards in the production of its financial reports. 
1. Public company 
2. Large proprietary companies

17. What is a ‘general purpose financial report’ as defined by SAC 2? What is the purpose of financial accounting? 
A report whose users rely on it as their sole or main source of information to assist their economic decision making. 
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18. What is the ‘Framework’ and its purpose? 
Up until 2005, the Framework defined the sort of organisation that needed to comply with Accounting Standards in the production of its financial reports and what those reports needed to include, and it consisted of four Statements of Accounting Concept. After 2005, Australia adopted the Framework for the 

19. What is the role of an external auditor? 
To check the company’s systems and records to ensure they have properly maintained them and that the reports at the end of the financial period accurately represent the company’s performance and position for that period. 
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20. Outline the principles and purpose of internal control. 
The principles of internal control include:
· segregation of duties 
· Established lines of responsibility 
· Appropriate security of assets and records 
· Installation of mechanical and electronic devices 
· Adequate recording and documentation systems 
· Installation of verification and checking processes
· The existence of authorisation processes 
· Employment of competent and reliable staff. 
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The purposes of internal control include: 
· Assets, current and non-current, need to be protected from loss or damage 
· Assets must be employed as efficiently as possible 
· Information must be available to management that is accurate to enable compliance with the requirements of the first two purposes and to ensure adherence to the policies they have established. This information must meet statutory requirements where necessary. 

21. State the main categories of assets over which a business must exercise control. Outline the reasons for and methods of control in each case. 
· Cash control: requires systemic and separate authorisation of payments, proper documentation of receipts and payments, regular reconciliation with the bank’s records and an audit trail that will enable transactions to be traced, enabling the cause of any losses to be identified. 
· Stock or inventory: The stock control system should ensure that the firm has the stock it needs, but not an excessive amount and that this stock is safeguarded against loss or damage. With the use of computers, firms can control their stock effectively. CCTV and electronic marking of stock items have also rendered shoplifting more difficult. 
· Debtors: For firms which do a significant amount of their business on credit, their debtors may represent a large investment of resources. Firms need to ensure that the minimum amount of funds are tied up this way and that bad debts are minimised. Measures can include:
1. Vetting credit customers -> avoid selling to those with poor credit history 
2. Identifying, by means of regular debtor’s reports, those who are not paying within the required period. 
3. Following up slow payers with reminders of increasing severity, which can culminate in legal action and/or the refusal to sell to that customer on credit until the debt is repaid. 
· Non-current assets; Investment in non-current assets is a significant part of the total funds employed. It is clearly important that this investment be adequate but not excessive. These controls can include:
1. Complete, up-to-date and accessible records of all assets so managers are aware of what is available, its age, location, cost, operating details etc. 
2. Operating policies for machinery and vehicles to ensure the safety and effectiveness of the assets and those who are operating them. 
3. Training of staff to ensure that those using assets will do as efficiently as possible. 
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1. a. 
This is because Rio Tinto Ltd is a publicly traded company and the report is to be made for a party external to itself (I.e.  the ASX) and as per SAC 1, it is a reporting entity (because they are an organisation with users who rely on those reports as their main source of information to assist them in making economic decisions. 
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1.13 
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1. Distinguish between a direct and indirect cost and give examples to illustrate the difference. 
A direct cost is a cost that can be easily traced back to the product or service produced with a high degree of accuracy. Materials used directly to produce a good is an example of a direct cost. However, indirect costs cannot be easily and accurately  traced to the product  it is used to help produce. These items are either not incorporated into the product or are too insignificant to make it worth tracing the cost for. An example can include electricity used in a factory to run the machines. 

2. Why is the difference between direct and indirect costs important in a costing system?
Some costs can be direct in producing one product and then become indirect for another product. Hence, distinguishing between them is important because it allows for the determination of the cost of an object to be more accurate. 

3. What factors are likely to affect the classification of a cost as direct or indirect? 

4. What is meant by cost behaviour and why is it important to understand cost behaviours in a costing system?
Cost behaviour is the relationship of the cost to the cost object and this is important to understand in a costing system because depending on the cost behaviour, it can increase or decrease depending on business activity or stay the same and this is important to take into account when assessing the cost of business operations. 

5. Distinguish between fixed costs, variable costs and mixed costs and give examples to explain the difference. 
Fixed costs are those that don’t change when the level of activity changes. For example, rent of a factory building won’t increase or decrease in price in accordance with how much is produced. However, a variable cost is liable to change with activity and an example of this is the raw materials used to manufacture goods which will obviously increase as more computers produced means more raw materials needed to make them. Lastly, mixed costs contain elements that are both variable and fixed, for example, a telephone bill contains the line rental cost (fixed) and the cost of phone calls made (variable). 
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6. Define each of the following and give an example of each for a manufacturing, merchandising and service business: direct materials, direct labour and overheads. 

Direct materials: raw materials that are directly traceable to the product being made. 
· 1. Manufacturing- buttons in the making of a suit 
· 2. Merchandising- 
· 3. Service-

Direct labour: amount paid to the employees that is traceable to the finished product. 
· 1. Manufacturing- machine operators in a factory 
· 2. Merchandising- retail store workers 
· 3. Service- panel beaters fixing cars 

Overheads: manufacturing overheads represent costs that aren’t direct materials or labour, but still part of the manufacturing process. 
· 1. Manufacturing: factory building insurance 
· 2. Merchandising: rent of the shopfront 
· 3. Service: cleaners of a restaurant (indirect labour)
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7. What are non-manufacturing costs? 
Costs of operating a business that aren’t incurred in the manufacturing process (also known as period costs). Can be further categorised as selling or marketing costs, distribution or transport costs, administration costs and financial costs. 

8. Distinguish between a product cost and a period cost. 
Product costs include all costs that are attributable 
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· Clothing factory equipment maintenance: indirect cost 
· Wages of vehicle factory assembly workers: period cost 
· Salaries of marketing staff: non-manufacturing cost 
· Depreciation of office equipment in a law practice: indirect cost 
· Surfboard factory supervisor’s salary: indirect cost 
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9. What is cost accounting and how is it useful to the management of a business? 
The measuring, analysing, recording and reporting on the cost of a product or service. It is useful for managing a business because:
· control of costs: comparing actual product costs with planned costs and, if necessary, taking corrective action so that the predetermined targets are met in the future. 
· Planning: using past product costs to estimate future product costs 
· Inventory valuation: calculating the value of products that are complete (finished goods) and products that are partially complete (work in progress) at the end of each accounting period for inclusion in the financial statements. 
· The settling of selling prices: often set with reference to the cost of the product or service 
· Determining profitability: management can determine if it is worth producing or selling the product or service. 

10. Define absorption costing. 
The method whereby all fixed manufacturing costs and variable manufacturing costs are included in the product cost. 

11. Describe a job order costing system. 
It is the process of recording all the costs of a distinct product or service. It is used when a business creates a single unit or multiple units of a distinct product, makes a product to a customer order or provides a service to meet specific customer requirements. 

12. What is a predetermined overhead application rate?
It allocates the indirect costs of production to the actual quantity of the product or service produced. Calculated by dividing the budgeted manufacturing overhead cost by the budgeted allocation base. 

13. What is a normal costing system?
It determines the cost of a product or service with job order costing using actual direct materials, actual direct labour and a predetermined overhead rate. 
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a. 90000/4350 = $20.69 
b. 20.69(600) + 50(600) + 11000 = $53413.40
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a. 130000 / 2150 = $60.47
[image: ]
*$130.28 per direct labour 
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4.10 
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4.13
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Direct materials per shirt 
7(2) + 0.5(3) = $15.5

Direct labour per shirt 
30(0.5) = 15

Factory overhead 
$160000

Indirect labour 
18000

Predetermined overhead rate
160000/18000 = $8.89

Cost of a shirt 
15 + 15.5 + 8.89(0.5) = $34.94

Standard cost 
5000(34.94) = $174725
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Direct materials per batch 
500(8) + 300(2) + 80(5) + 200(3.5) = $5700

Factory overhead 
$79000

Direct labour 
200(30) = $6000

Direct labour 
11520 hours 

Predetermined overhead rate 
79000/11520 = $6.86 per hour 

Batch standard cost 
5700 + 6000 + 6.86(200) = $13072

Cost of one burner 
13072 / 2000 = $6.54

[image: ]

Variance 
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a. Direct materials price variance: (11-10) * 950= $950 (unfavourable) 
b. Direct materials quantity (usage) variance: (950 - 1(1000))*10 = ($500) Favourable
[image: ]
c. Direct labour rate variance: (18.3 - 18) 550 = $165 Unfavourable 
[image: ]
d. Direct labour efficiency variance: (550 - 0.5*1000)*18 = 900 Unfavourable 
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a. DMPV: (0.33-0.3)99200 = $2978 U 
b. DMQV: (31-30)3200*0.3 = $960 U 
c. DMLRV: (24-22)(3200*0.25) = $1600 U 
d. DMLEV: ((3200*0.25) - (3200*0.266))*22 = ($1172.87) F 

3/3/24 

14. What is a standard costing system? 
A system of product costing where the cost of a product is based on standard costs for direct materials, direct labour and manufacturing overheads. 

15. Explain what is meant by variance analysis. 
The comparison of actual results compared to the standard amount or value represented in the flexible budget (the standard quantity or hours allowed for actual output multiplied by the standard rate or price).

16. Define the concept of the mark-up.
The amount (either in dollars or in percentages) added to the unit cost price of a product or service to determine its selling price. 
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Direct materials per batch 
7500(200) = $1500000

Factory overhead 
$109750

Direct labour 
2(21)*2500 = $105000

Machine hours 
51000 hours 

Predetermined overhead rate 
109750/51000 = $2.15 per hour 

Overheads 
2(2.15)(2500) = $10750

a. 
Batch standard cost 
1500000+10750+105000 = $1615750

Cost of one 
1615750/2500 = $646.30
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b. Predetermined standard fixed overhead rate: 63750/51000 = $1.25
Predetermined variable overhead rate: 46000/51000 = $0.90

c. Calculate the following variances 
1. DMPV: (210-200) * 7200 = $72000 U 
2. DMQV: [[2500*3) - (2300*3)]*200 = $60000 U 
[image: ]

3. DMLRV: (22-21)*4400 = 4400 U
4. DMLEV: [4400 - 2(2300)]* 21 = (4200) F 
[image: ]

4.23
a. POR: 430000/4570 = $94.09 per hour 
b. Cost of one tent: (463000 + 23560)/500 + (94.09*160)/500 = $1003.23
c. With mark-up: $1003.23*1.35 = $1354.36

[image: ]
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Prefab dept. 
Direct materials: 6000
Direct labour: 4(45) = 180
Manufacturing overhead: 23(10) = 230
Total cost: $6410

Cutting dept. 
Direct materials: 300
Direct labour: 8(55) = 440
Manufacturing overhead: 8(18) = 144
Total cost: $884

On-site cons. Dept. 
Direct materials: 500
Direct labour: 30(61) = 1830
Manufacturing overhead: 30(3) = 90
Total cost: $2420

Total cost of all three depts. = $8762
w/ markup = 9714(1.28) = $12434
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Define each of the following terms and provide examples of the types of costs that would be included:
a. Fixed costs
Costs that do not change with the level of business activity. 
In a manufacturing business: cost of depreciation is calculated based on the expected life of the machine, not on its use. 
Other examples include insurance, licences on vehicles, wages of supervisory staff. 

b. Variable costs
Costs that change in proportion to the level of production. Includes cost of materials used in the manufacturing process to make each unit, the wages of factory workers per unit and the amount of energy used in production (oil, gas, electricity, etc.) 

c. Mixed costs 
Some costs are a mixture of both fixed and variable costs and the cost accountant will need to apportion them between the two types of costs. This will involve estimation, meaning that CVP analysis is not an exact calculation. 
Mixed costs can include wages where the fixed element is the normal weekly wages of production staff and the variable component is any overtime required. 
Electricity to light and air-condition the business premises is relatively fixed, but increased production would increase electricity used by production machines, which is a variable cost. 

Fred runs a fast food shop making hamburgers. Identify whether the following expenses are fixed or variable costs. 

	Type of costs
	Variable costs
	Fixed costs
	Mixed costs

	Electricity
	
	
	X

	Packaging
	X
	
	

	Wages - full time
	
	X
	

	Wages - casual
	X
	
	

	Water
	X
	
	

	Materials purchased
	X
	
	

	Depreciation on equipment
	
	X
	

	Depreciation on office furniture
	
	X
	





How is the break-even point calculated and why is it necessary for it to be calculated?

The break-even point for a product is the volume of production at which the income from the number of units produced and sold (i.e. total sales) is equal to the total costs. This will not produce a profit or a loss but ‘break-even’. 

To calculate the break-even point, the profit is set to zero and we calculate the number of units required. 
(S*X) = P + FC + (VC*X) where profit = 0 
· S = Selling price per unit
· X = number of units produced and sold 
· VC = variable costs per product 
· FC = total fixed costs 
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5.5
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Test 2 notes:
Nature of costs
· A cost object is any object for which we require a value or any object for which costs are measured and assigned. Examples of cost objects are a product, a service, a process, an activity, and a customer. 

Cost behaviours:
a. Fixed costs
Costs that do not change with the level of business activity. 
In a manufacturing business: cost of depreciation is calculated based on the expected life of the machine, not on its use. 
Other examples include insurance, licences on vehicles, wages of supervisory staff. 

b. Variable costs
Costs that change in proportion to the level of production. Includes cost of materials used in the manufacturing process to make each unit, the wages of factory workers per unit and the amount of energy used in production (oil, gas, electricity, etc.) 

c. Mixed costs 
Some costs are a mixture of both fixed and variable costs and the cost accountant will need to apportion them between the two types of costs. This will involve estimation, meaning that CVP analysis is not an exact calculation. 
Mixed costs can include wages where the fixed element is the normal weekly wages of production staff and the variable component is any overtime required. 
Electricity to light and air-condition the business premises is relatively fixed, but increased production would increase electricity used by production machines, which is a variable cost. 

Relationships to cost objects:
a. Direct costs
A cost easily able to be traced to a product or service with a high level of accuracy. This cost is physically and easily (economically and conveniently) traced to the finished product. 
Examples: wages of a mechanic in a car repair business, cost of bottles in wine production, cost of metals in building a car. 

b. Indirect costs
Costs that are not so easily traced to a product or service. These are items not incorporated into the product or are too insignificant to make it worth tracing the cost to the finished product. 
Examples: salary of a factory manager, local government rates and taxes, and business insurance of premises. 

Treatment of costs:
a. Product costs
Includes all costs attributable to a product and are recorded as an expense in the period in which the product is sold and this will be recorded as the cost of goods. 
Examples: computers sold by a computer shop and commercial loans from banks 

b. Period costs
Any costs that aren’t product costs. They are an expense and therefore are shown in the business’s Income statement in the period in which they are incurred. 
Examples: advertising, office rent, wages paid to sales personnel. 

Time orientation of costs:
· Standard cost: a predetermined cost and based on some preconceived benchmark of what is considered appropriate to the making of a product. 
· This benchmark of quantity of input -> standard input 
· Benchmark price -> standard price 
· Total standard cost = standard price * standard quantity 
· Standard costing is a system of product costing where the cost of a product is based on standard costs for direct materials, direct labour and manufacturing overheads. 
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5.7
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5.5 
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G.
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Amended sales volume: 7000*1.07 = 7490 desks
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Margin of safety = 1793448/4134480 = 43.4%


5.7
a. Contribution margin = 21(0.98) - 14.75 = $5.83
BEP = 160000/5.83 = 16000/5.83 = 2745 bins 
b. Profit = SP*QS - ((VC*QS) + TFC)
20.58(4000) - (14.75*4000 + 16000) = $7320
c. The BEP is quite high, at over half of expected production per year which can be seen as undesirable, however the expected profit is also good, at $7320 so the business should proceed with the investment. 



5.8
a. Contribution margin = $4 850 000/5000 = $970 per unit
Total fixed costs = $1 860 000
Break even point = 1860000/970 = 1918 computers sold
BEP (sales) = 1950(1918) = $3740100
[image: ]
[image: ]Proposal one (marketing manager):
CM = 1950(0.95) - 980 = $873
BEP (units) = (1860000 + 20000 + 50000)/873 = 2211 computers sold 
BEP (sales) = 2211 (1853) = $4096983

Proposal two (production manager):
CM = 1950(0.95) - 980(0.95) = $922
BEP (units) = 1860000(0.95) / 922 = 1917 computers 
BEP (sales) = 1917 (1853) = $352201

b.  MOS (Standard calculation):
MOS (dollars) = 9750000 - 3740100 = $6009900
MOS (%) = 6009900 / 9750000 (100) = 61.64%

MOS (Marketing manager):
MOS (dollars) = 9750000(0.95)(1.1) - 4096983 = $6091767
MOS (%) = 6091767 / 10188750 (100) = 59.79% 

MOS (production manager):
MOS (dollars) =  9750000(1.1) - 3552201 = $7172799
MOS (%) = 7172799 /  1072500 (100) = 66.9%
 
c. Standard calculation 
[image: ]

Marketing manager calculation 
[image: ]

Production manager calculation 
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5.9 
a. BEP = TFC / CM
0 = 200000 / CM 
CM = 200000 - 0
CM = $200000

b. 200000 = selling price / 6
CM = TC - VC 
200000 = 500000 - VC 
VC = 300000
Number of units produced = total VC / VC per unit 
                                          = 300000 / 6 
                                          = 50000
Selling price per unit = 500000 / 50000
                                 = $10

c. 55000*10 = $550000 revenue 
Total VC = 6*55000 = $330000
TFC = $200000
Profit = 550000 - 330000 - 200000
         = $20000


5.11
a. CM = SP - VC 
       = 2000 - (40 + 500 + 200 + 400) 
       = $860

Total CM = 860(600) 
               = $516000

b. BEP (units) = TFC / CM 
                   = 200000 / 860
                   = 233 units 
BEP (sales) = 233(2000) 
                    = $466000

c. Profit = 860(600) - 200000
          = $316000

d. CMR = CM per unit / SP 
         = 860 / 2000
         = 0.43 or 43%

e. 1400000 / 2000 = 700 sold 
New profit = 700(860) - 200000
                  = $402000
Profit difference = 402000 - 316000
                          = $86000
Increase of 27.2% in profit 

f. New fee = 2000(0.9) 
              = $1800
Advertising = $50000

CM = 860 - 200 
       = $660

BEP = 250000 / 660
        = 379 units 

Sales = (316000 + 250000) / 660
          = 858 units 
Therefore not a good proposal, and significantly increases BEP point as sales price reduces and increase in fixed costs. 

g. Profit: 316000 = Selling price*600(1.1) - [(400(0.95) + 40 + 500 + 200)660 + 200000(0.9)
                       = SP*660 - [(1120)660 + 180000)
                       = SP*660 = 919200
                 SP = 1235200 / 660
                 SP = $1920

h. MOS = Actual/budgeted sales - break even sales 
         = 2000(660) - 466000
         = 734000

MOS% = MOS / Actual/budgeted sales 
            = 734000/1200000
            = 61.2%

5.13[image: ][image: ][image: ][image: ]
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MOS% = 168000/240000
            = 70%
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5.17
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5.18
Perth branch 
Sales: 600000
Variable costs (manufacturing): (241000)
                       (Selling):              (47600)
 Fixed costs: (185000) + 190000(0.7)(0.5) = (251500) 
Profit(loss) = 59900

Hobart branch: 
Sales: 800000
Variable costs (manufacturing): (378500)
                       (Selling):              (56700)
 Fixed costs: (183000) + 190000(0.7)(0.5) = (249500) 
Profit(loss) = 115300

Total profit = $175200

5.19
a. SM% for bedside lamp = 4000 / (4000 + 3000) 
                                     = 57%
SM% for room lamp = 3000 / 7000
                                 = 43%

b. WACM (per unit) = sum of [CM (per unit) * sales mix%]
CM (bedside lamp) = 90 - (30 + 10 + 20) 
                                = $30

CM (room lamp) = 120 - (40 + 15 + 30) 
                           = $35

WACM (per unit)  = 30(0.57) + 35(0.43) 
                             = $32

c. BEP (units) = TFC / WACM
                   = (120000 + 85000) / 32
                   = 6406 units 

d. Bedside lamp: CM per unit = 30
                        Hours to produce per unit = 1 
                        CM per machine hour = $30

Lounge lamp: CM per unit = 35
                        Hours to produce = 1.5
                        CM per machine hour = $24

e. [image: ]

5.23
a. Total capacity = 5000
Current production capacity  = 6000

CM (normal production) = 450 - 210 
                                       = $240

Profit (normal production) = 450*5000 - [image: ]

b. [image: ][image: ]

5.24
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14. List budgets that would possibly contribute to a master budget for:
a. A manufacturer: operating budgets such as the sale plan which will link to the level of production and all related aspects of required materials, labour and overhead costs. 
b. A retailer: operating budgets such as budgets for costs of sales, cost of goods, purchases and inventory, marketing, advertising 
c. A service business:
[image: ]
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2.3
July: $115500
Credit: $46200
Cash: $69300

August: $119900
Credit: $47960
Cash: $71940

September: $123200
Credit: $49280
Cash: $73920

October: $132000
Credit: $52800
Cash: $79200

November: $165000
Credit: $66000
Cash: $99000

December: $193600
Credit: $77440
Cash: $116160


	Months 
	total sales 
	credit sales (40%)
	October 
	November 
	December 

	July 
	115500
	46200
	13860
	
	

	August 
	119900
	47960
	14388
	14388
	

	September 
	123200
	49280
	19121*
	14784
	14784

	October 
	132000
	52800
	
	20486*
	15840

	November
December 
	165000
193000
	66000
77440
	
	
	25608

	Total
	
	
	$47369
	$49658
	$56232

	discount given
	
	
	$591
	$634
	$792



*3% discount deducted for prompt payment 
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Credit sales
July: 53460
August: 53988
September: $59400
October: $52800
November: 46200

	Debtors receivable Collection Schedule

	Actual/Estimated
Purchases
	Credit Purchases
(60% of Total)
$
	October
$
	November
$

	July
	53460
	5346
	

	August
	53988
	10798
	5399

	September
	59400
	41580
	11880

	October
	52800
	
	36960

	November
	46200
	
	

	Collections from debtors
	 
	57724
	56969

	cash sales (40% of total)
	 
	35200
	30800


Budgeted cash.                                                     929924.                 85039

	Cheung Pty Ltd

	Cash Budget for the two months October and November

	 
	October
$
	November
$

	Open Bank Balance 1 October 2010
	16900
	4944

	Receipts
	 
	 

	Collections from Debtors
Cash sales 
	57724
35200
	54229
30800

	Equipment sale
	4400
	

	Bank Loan
	 
	20000

	Total cash available
	114224
	109963

	Payments
	
	

	Credit Purchases
	43120*
	32340*

	Salaries and Wages
	12400
	12500

	Electricity
	5610
	4202

	Advertising
	8200
	7600

	Office Admin Expenses
	15400
	14500

	Loan Repayment
	3000
	

	Interest Expense
	500
	

	Equipment Maintenance
	2100
	1730

	Annual Copier Service
	360
	

	Entertainment and Hospitality
	600
	

	Dividends
	17000
	

	Travel
	
	725

	Cleaning
Capital expenditure (eq)
	990
	990
25080

	Total Budgeted Payments
	109280
	99667

	Budgeted Cash Balance
	4944
	10316


*Discount received of 2%



	Cheung Pty Ltd

	Budgeted Income Statement for the two months ending 30 November 2010

	 
	$

	Sales
	165000

	Less Cost of Sales
	(90750)

	Gross Profit
add other operating income 
Discount revenue 
Total income
	74250

1540
75790

	Expenses
	

	Advertising
	15800

	Salaries and wages
	25000

	Equipment Depreciation
	1600

	Insurance
Office admin 

	1100
29000

	Total Expenses
	43500

	Budgeted Profit (Before Taxation)
	

	Income Taxation
	

	Budgeted Profit (After Taxation)
	





	Tiggy WInkle Pty Ltd

	Budgeted Income Statement for April - June 2024

	 
	$

	Sales
	950250

	Less Cost of Sales
	(403590)

	Gross profit
	546560

	Total income
	

	Operating Expenses
	

	EFTPOS Fees
	1996

	Depreciation on plant and equipment
	9000

	Interest
	180

	Rent 
	5500

	Advertising
	4800

	General running costs
	15600

	Administration costs
	12600

	Salary
	11800

	Insurance
	625

	Total expenses
	62101

	Budgeted Profit (Before Taxation)
	484559

	Income Taxation
	145368

	Budgeted Profit (After Taxation)
	$339191




	Badawi Suppliers

	cash performance report for the month of December 2011

	 
	
	
	$

	Sales
	
	
	950250

	Less Cost of Sales
	
	
	(403590)

	Gross profit
	
	
	546560

	Total income
	
	
	

	Operating Expenses
	
	
	

	EFTPOS Fees
	
	
	1996

	Depreciation on plant and equipment
	
	
	9000

	Interest
	
	
	180

	Rent 
	
	
	5500

	Advertising
	
	
	4800

	General running costs
	
	
	15600

	Administration costs
	
	
	12600

	Salary
	
	
	11800

	Insurance
	
	
	625

	Total expenses
	
	
	62101

	Budgeted Profit (Before Taxation)
	
	
	484559

	Income Taxation
	
	
	145368

	Budgeted Profit (After Taxation)
	
	
	$339191
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3.3
A:  40000 / 11000 = 3 years 8 months 
B: 50000 / 13000 = 3 years 11 months 
A has more risk
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List five different types of capital expenditure items.
Five different types of capital expenditure items could include:

Describe the characteristics of capital expenditure items.

Accounting and Finance
Unit 3

Accounting and Finance For WA
Chapter 3 - Capital Investment Decisions

Test Your Knowledge

Question 1

establishing a new store;

purchasing new machinery;

acquiring new technology;

starting the production of a new product;

taking over an existing business; or

investing in a financial institutions investment fund.

i large cost of the investment, businesses will often
have to raise finance in addition to their own funds.

The expenditure is usually for the long term. The acquisi

ition of non-current assets means that the impact of the decision will be felt by the business
for a long period of time. There is an expectation that the a

ssets will generate cash flow and profit over time and that they will be sufficient to repay
the debt finance, if required, also over a long period.
The decision cannot be easily reversed. The decisions are difficult

generate cash flow and profits well into the future so that lenders can be
be difficult to predict, for example:

o the rate of technological change;

o economic circumstances;

o customer preferences; and

o what your competitors will do.

ERrErTS T | §
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gﬂaln Why capital investment decisions are important. Saton s
pital expenditures take time to mature but are vital to the lon,

are all interested in the capital inv 4 by
that they will Plal investment decision as it will a

g-term efflech'veness and efficiency of the business. Investors, lenders, employees and customers
ffect them in some way. Capital expenditures have a large impact on a business and it is expected
€am a reasonable rate of return;

¢ improve productivity;
* enable the growth of the business; and
¢ advance product or service quality.

Question 4
What factors affect capital investment decisions?

The capital investment decision-making process should involve both an analysis of the quantitative (ie. accounting and finance techniques) and qualitative
aspects of the alternative projects or options that are available for consideration.

When management makes a capital investment decision it must consider the qualitative aspects of the decision. These impacts are difficult to quantify but are
about the business trying to gain a strategic advantage in the market, as a result of the investment project or asset acquisition.

Question §
What is meant by the ‘cost of capital’?

The minimum rate of return, or profit, a company must earn before generating value. It's calculated by a business's accounting department to determine financial
risk and whether an investment is justified.

Question 6
Explain the importance of ‘qualitative factors’ in capital investment decisions. Give examples to support your answer.
Capital investment decisions require consideration of qualitative aspects, such as improvements in product quality, business image and competitiveness;
reductions in environmental impacts; and the morale of employees.

Examples of qualitative impacts of capital investment decisions include:
+ employee morale;
» effect on other parts of the business;
« environmental impact;
« effect on future business opportunities;
« effect on the business’s image; and
+ changes to the quality of product.
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Explain how customer

Preferences, competitors and gove uestion? .
n i A
answer. ment regulation can affect capital Investment decisions. Give examples to support your Y
e Payback
ustomer Preferences — critical i P
cal in the mark

perceptions of the business. The e preetf:i nlzrocesls IS the fact that the customer and their demand for a product or service is influenced by their Qef\CasT
* changing e es Will alter according to such influences as 2
e habits; and 'ayback f
® social values. 27N
. & e
For example, custpmers and investors are looking more and more for businesses to make socially and environmentally responsible investments and they may !w

boycott those businesses that do not operate accordingly.
back P
Competitors — in any industry, competition is intense and a business must keep up with or get ahead of its competitors. It must analyse all parts of the business e
operation, such as; ST

e marketing approach;

®  productivity;

e technology;

e resources;

e financial investments; and
e environmental impact.

It is essential to look for innovation, keep costs to a minimum and maximise revenue-earning potential. These aspects will affect the decisions that managers
make and they may consider that these factors will outweigh any unacceptable quantitative results, such as a negative net present value.

Government Regulation — a business must consider the attitude of regulators, such as governments, when considering the acquisitif)n or replacement of
assets, or an investment in a project. Corporate social responsibility is influenced by government policy and regulation. For example, businesses must:

. : adhere to government demands to reduce environmental impacts

e meet regulations regarding occupational health and safety

i i i tive title
omply with government requirements concerning na : '

At th.e Io(::al gpozllernment level, businesses must operate under the by-laws relating to such aspects as:

e health and safety;

e business zoning; and

e building construction.

Question 8

e tht_a payfbt‘ac:; 'i:et:ai::s' for the cash flows from an investment to exceed the initial cost of the investment. The shorter the payback period, the better.
!l?hthefpf: C:? tr?er:;re two or more options available, the one with the smallest payback is the project that should be preferred.
erefore,





image97.jpg
pescribe the advantages and disadva
ntages of the pa
yback period.
Advantages

Question 9

itis a simple technique;
e

itis easily understood by in erS a [2) I¢ te the importance of cash outlays being ecouped
it business mana

At 5 gers as th Y apprecial imp |

t gives the mar 1ager some appraisal of the financial risk attached to al project ;

Disadvantages

it does not consider the ti
ime va jod" i
o lue of money. Each period's cash inflow is considered to have the same value as the next andthis is not necessarily
ca | jod i
o 5 ::\ r:acelved after the payback period is not considered. Some projects may tal
e long term, be better than those with short payback periods.

ke a number of periods to generate good cash inflows and they may,

] Question 11
Explain the concept of the ‘time value of money’.

|s a concept that states money today does not

have the same value in the future and this is due to the impact of inflation and interest rates.

Question 12
What do you understand about by the present value of an item?

Cash flows over time have different values. Therefore, if we wish to add

all the same equivalent value — usually their current value (present va
discounted cash flow. technique.

them all together and make valid

comparisons over time, we must ensure that they are
lue). This practice of converting

future cash flows to their present value is called the

When we calculate the present value of an item we use whatis called the discount rate. The connection between a future value and a present value is that the
discount rate and the interest rate (or rate of return) are in fact the same.

Question 13
Describe the advantages and disadvantages of the net present value method.

Advantages '
« it takes into consideration the time value of money; and ‘ ' .
« the cash flows from the project, over its entire lifetime are taken into consideration.

Disadvantages - .
o itcanbe difficult to determine an appropriate discount rate/cost of capital;
« itdoes not take into account of risk; and
e itis more complex and can be difficult to explain.

o whatyour competitors will do.
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1.9  Which of the following financial reports would need to comply with Australian Accounting

Standards? Explain your answers.

a The Statement of financial position included in the six-monthly report made by Rio
Tinto Ltd to the Australian Securities Exchange.

b The monthly performance report produced by Rio Tinto's iron ore division for senior
management.

¢ The annual income statement produced by the accountant of Greenfields Pty Ltd,
a small family horticultural business.

d The financial budgets produced by Greenfields Pty Ltd as part of its application to the
Commonwealth Bank for a loan to fund a proposed expansion of the business.

1.10 Happy Harry’s Hardware is a small family concern selling hardware and building materials

in one of Perth's eastern suburbs. The owners are bit concerned that, although they are
always busy, they do not seem to be making as much profit as they used to. They have
asked you to investigate. In the course of your investigation you discover the following:
a Most payments are made by cheque, signed by one of the owners or the store supervisor.
However, for greater convenience, some payments are made out of the cash in the till.
b The monthly statements received from the bank are carefully filed, though nobody
actually reads them. :
¢ New stock is ordered when the supervisor or one of the workers notices that an lt
running low. The order is usually placed by telephone to the supplier to ensure t
acted on promptly.
d A number of small builders and tradespeople have accounts with the ﬁrm;a; |
to enjoy the benefit of a ‘trade discount. When the accounts are finalised at
the year, any whose accounts are more than three months overdue are ideg

reminder letter is sent out to them.
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“Rccounting and Finance For WA
Chapter 4 - Introduction to Cost Accounting

Tost Your Knowtedge

Question 1
Distinguish between a direct and indirect cost and give axampies (o fustrats e differencs.
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Question 2
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Question 4

What i meant b cost behaviour and why i8 i impartant o inderstand cost behaviours in & costing sysiem?
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Question §
Distinguish betwoen fixed costs, varlabls costs and mixed costs and give examples to explain the difference,
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What are non-manufacturing costs?

Question 7
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Question §
Distinguish between a product cost and a period cost.
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Question 13
What Is a normal costing system?

Narmal costing determines the cost of a product or service with job order costing using actual direct matertals, actual direct labour and a pr
figureg are applied to the actual quantity related to a job. The predetermined overhead rate aliocates

egelermined overhead rate. Thesa
the indirect cost of production to the actual Quantity of the product or

Question 14
Hard costing system?

t is a predetermined cost and based on some preconceived benchmark of what Is considered appropriate to the making of a produch. This may apply lo
.

f quantity of input (how much material should be used in the making of a dress, for instanca); or
the price of the input material (o be used (the price of the dress, for instance)

The benchimark of the quantity of input |s called the standard input and the benchmark price is called the standard price. The lotal standard cost Is the stand

ard Prica m
by the standard quantity. Therefore, the direct materials, direct labour and manufacturing overhead are not actual costs but rather estimates based on a siandard

Question 18
Explaln what Is meant by variance analysis.

Variance analysis when using standard cosls, is the comparison of the actual resuits compared lo the standard amount or value representad (n the flexibie budget. Tha
flaxible budget s the standard quantity, or hours allowed, for aciual output multiplied by the standard price of rale
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o steel used to make pergolas. . |
hicle building busin€ss in the suburb of Myaree

ate a custom V€
They use a job cr;:t?:gofyirtem and apply normal costing to absorb all costs into the unit
price of a vehicle. Budgeted manufacturing overhead for the currgnt year was $90000 an
the predetermined overhead rate was t0 be calculated based on direct labour hours, which
are estimated to be 4350 hours for the current year.
Job number 56 was built for Teresa Tumble and the cost details recorded on the job

cost sheet are as follows.

Direct materials $11000

43 Vuand Sala ow

Direct labour hours 600 hours
Direct labour rate of pay $50 per hour

Required
a Calculate the predetermined overhead rate.

b Calculate the total cost of job 56.
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45 Vale Dairy Ltd uses a job costing approach applying normaj c
the cost of a batch of its range of seven different types of da

gsting procedures to determine

The estimated machine hours required in 2011 is 2150 hours. The business plans to
produce over a million bottles of chocolate milk in 2011. Batch number 130 during the year
2011 is the production of 10000 bottles of its chocolate milk. The direct costs are as follows.

Direct materials $20000
Direct labour $3600

Batch number 130 took 24 machine hours to produce.

Required
a Calculate the predetermined overhead rate.
b Calculate the total cost of batch number 130. T

¢ Calculate the cost of a bottle of chocolate milk for bat |
Sl e e e T VSR

dly skiri

AN ol
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4.5

a) Predetermined overhead rate
Budgeted Factory Overhead
Indirect Materials

Indirect Labour

Other overheads

Therefore = $280 000/2 150 machine hrs
Therefore = $116.28 per direct labour hour

$ 83000
$ 67 000
5130000
$ 280 000
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b) Job Number 130

Direct Materials $20 000
Direct Labour $ 3600
Manufacturing Overhead (24 hours X $116128) $2791
Total cost Job 130 526391

€) $26 392/10 000 = $2.64 per bottle for choc milk
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pre-press department
print department

Required

_ Machine fime
a Calculate the predetermineq Overhea

b Calculate the total cost of job 271. diicaiye £ach department,

4.10 Paul Lennon is the owner of Stylish Hairdressing i
; ) essin i : ;
applying normal costing to determins e gfn:asczb;acq. Hethuses 3 Job costing approach
3 Wi ; €rvice that is off, in hi
He is rgwevi\:/fl]ng ﬂl\f COSt.Of a ladies wash and blow-wave to determine ifecrsgtsma:]elsbse?;on.
coverea at the selling price of $40 per Customer. The overheads for the business for 20191
are expected to be as follows.

Electricity cQsts incurred $4500
Water costs incurred $1800
Cleaning costs incurred $15000
Repairs and maintenance of equipment i $2900
Depreciation of equipment $12600
Indirect materials used s $35 600}
= ; $27 800
Rent cost incurred — $51—00—1
Insuran i
S ance cost incurred ) $67000
E.l|0n manager salary $16450
Miscellaneous costs incurred

; ill
Overheads are applied on the basis of direct labour hours and for 2011 the salon wi

i half hours per day, for five days per :
operate with nine hairdressers working seven and a il S

Week, for 52 weeks of the year. Each hai;dr;s;ze(: f|s$ gaslg ﬁer gy AL
LS 5 .

Wash and blow-wave requires direct mate gt

estimated that it will take 30 minutes for each womens

Required st
; w-wave. i -
Calculate the cost of a women's wash and blo e pr’ovwmg Comme:m&'tal =
in centra s slorsten
411 The Harrison and Starr legal firm operates The firm has four par§ and em e e
Services for the southern districts of Perth. - : & experien
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413 Cotton Shirts Pty Ltd makes a range of ten casual shi L
: X Irt :
shirts are sold through retail shops. In the design phasesxlecz ér‘gsfil;e sltand_ard sizes. These
shirts are recorded for future use. The business yses Job costin tec\;mo b oS
products and standard costing is applied to absorb all costs : Naue oot
The business has introduced a new men'’s t-shi .

: : : -shirt called the Surf Shirt. The i
standard co§t|(rjlg to detirmme the price of this shirt. As all sizes are charged tz\:;z;?;%ice
the costing is done on the average men's size. The standard cos ' -

- ts for
are as follows: producing this product

e Direct materials:
- the price of cotton is $7 per metre and the material allowed is 2 metres

— the price of a button is $0.50 and three buttons are allowed per t-shirt.

e Direct labour:
- the wage rate is $30 per hour and 30 minutes is allowed to make one t-shirt.

The factory overhead cost, which includes the cost of designing all the shirts and
indirect manufacturing costs (such as thread, electricity and insurance) are estimated to

be $160000 per year for the whole factory for the year 2011. Overheads are allocated to
each batch of shirts based on a predetermined overhead application rate using direct labour

hours as the cost driver. It is expected that in 2011 the direct labour hours total will be
18000 hours. It is expected that the company will make a batch of 5000 of the new Surf

Shirts in May 2011.

Required e .
- | k
Calculate the standard cost of making a batch of 5000 Surf Shirts and the cgst of making
one Surf Shirt. g il -

Cr . Lomwvn A AtV
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4.14 Laver Ceramics is a medium-sized business making and selling ceramics from a factory
and sales outlet in Canning Vale. The business absorbs all costs using standard costing
techniques under a job costing system. g :
To make a batch of incense burners the following standard costs have been determined:
e Direct materials: SR e NS O
500 kilos of clay at a cost of $8.00 per kilo
300 litres of glaze at a cost of $2.00 per litre
80 litres of paint at $5.00 per litre |
200 litres of sealant at $3.50 per litre
e Direct labour: \
~ 200 direct labours hours at a cost of $30.0t
The business expects to make three batches of i
make 2000 pots. The factory overhead is estimated
ended 31 December 2011 the total overhead was est
allocated to a batch based on direct labour hour
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Required
Calculate the standard cost of making a batch of incense burners and the cost of making
one incense burner.
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S e St Therefors, 200 direct labour hours X $0.80 par direct Woour hows = 31
tandard Cost ing a Batch of 2000 Incernse Bumnaers

‘ : _ 00
=
88 000.00

iodt Libowt sl e
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Cost of Making One Incense Burner
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d variable overn€a Titixizm=d ==

e performance in the manufacturing of wq
Ltd is reviewing its pe L oden
4.21 Craftwoodd P'EOdll':Cut:ezt: standard costing system and reviews its variances at the eng
g:caef;fr:ile\:acr Euring 2011 it plans to manufacture 3000 craftwood picture frames, The

following are the standard costs for 2011 relating to the manufacture of one craftwgog

picture frame.
-$9.00
8550 |

$4.00

Direct materials: 30 square centimetres per picture frame at 30 cents per square centimetre

Direct labour: 16 minutes per picture frame at $22.00 per hour
Variable manufacturing overhead: 28 minutes per picture frame at
(applied rate per machine hour)

Fixed manufacturing overhead: 28 minutes per picture
(applied rate per machine hour)

Planned machine hours
Budgeted fixed manufacturing overhead
Budgeted variable manufacturing overhead

$8.57 per machine hour

frame at $9.64 per machine hour

During the year 2011 the following actually occurred.

Actual production 3200 craftwood picture frames
Direct materials: 31 square centimetres per picture $9.90

frame at 33 cents per square centimetre

Direct labour: 15 minutes per picture frame at $24.00 | $6.00

per hour

Variable manufacturing overhead: 30 minutes per $4.15

picture frame at $8.30 per machine hour '
Fixed manufacturing overhead: 30 minutes per picture | $4.40

frame at $8.80 per machine hour

Actual machine hours 1600

Actual fixed manufacturing overhead $14080
Actual variable manufacturing overhead $13280

Required
Calculate the following variances for the
frames:
direct materials price variance
d!rect materials quantity variance
d!rect manufacturing labour rate variance
S;rreizgalr::ufa;turing labour efficiency variance

i anu actur!ng overhead spending (pri i
;i:;brlne mafnufacjcurlng ovgrhead efﬁciengy(\earcii::nance

anufacturing spending varianc

fixed manufacturing production :

volume varj
4.22 Becker Snarte Emivie . . riance,

year 2011 in relation to craftwood picture

SO =ham OO O 0
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Required . . .
Calqculate the following variances for the year 2011 in relation to craftwooq Picture

frames: | .
direct materials price variance

direct materials quantity variance

direct manufacturing labour rate variance

direct manufacturing labour efficiency variance

variable manufacturing overhead spending (price) variance
variable manufacturing overhead efficiency variance

fixed manufacturing spending variance

fixed manufacturing production volume variance.

SO " an oo

4.22 Becker Sports Equipment is a medium-sized business making and selling sports equipmen:
from a factory and sales outlet in Midland. The business absorbs all costs using standara
costing techniques under a job costing system. To make a batch of its gym foa}h mats the
following standard costs have been determined for 2011:

* Direct materials: 3 m? foam mat at 3 cost of $200 per m?
® Direct labc?ur: two direct labour hours at 3 cost of $21.00 per hour

The business Expects to make a batch |
of 2500 foam mats in May 2011. The tota
f:;it:hfysge;ggad for the year ended 31 December 2011 was estimated to be $109750. 7
was fixed overhead and $46000 was variable overhead based on produc
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COST ACCOUNTI

materials used: 7200 m? of foam mats at cost of $210 per m? :?(;3 g Ao nat
used: 4400 direct labour hours at a cost of $22.00 per hour 7 80((J)OO

ctga»l result regarding the overheads for the Year ended 31 December 2011 was

(ual total overhead Pge 000
1al fixed overhead incurred $60000
1l variable overhead incurred $38000

production of various gym foam mats | 27000

(Aotual machine hours used 50000

Calculate the standard fixed and variable overhead costs for the year ended
31 December 2011.

Calculate the following variances regarding the production of the gym foam mats batch
in May 2011:
i direct materials price variance
i direct materials quantity variance
direct manufacturing labour rate variance
iv_direct manufacturing labour efficiency variance.
Calculate the following variances regarding the overheads for the year ended
31 December 2011:
variable manufacturing overhead spending (price) variance
I variable manufacturing overhead efficiency variance
fixed manufacturing spending variance
fixed manufacturing production volume variance.

in Pty Ltd is a manufacturer of camping gear in Osborne Park. It has recently produced
1ew tent for use in harsh outback conditions. The direct total costs associated with the
:,uct are direct materials $463 000 and direct labour hours of 370 hours at a total. cost
$23560. The company plans to produce 500 of this type of outback tent, which will

' 160 machine hours. :

total production overheads budgeted for 2011 at Fhe end of the.prewous year were
000 and it was planned to produce 65000 different items of camping products during
udgeted year. The business makes ten different types of camping items. Overheads are
' to products on the basis of machine time and 4570 machine hours were budgeted

11. The business has set its mark-up as 35% on cost.

e the predetermined overhead rate.

he cost of one new outback tent. W |
he price to be charged for one new ou L
e::\c/fufot:;k thegcompany might have considered in deciding on the
centage? | it
L e billiard tables at its factory in Kwinana.
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Question 4.22
Requirement A @
Predetermined Overhead Rate Yot Overheads | $100 750
(Total Overheads/Machine Hours) Saching Hours | 51000 i
$109 750/51 000 { XD ]
& &
Direct Materiala I-7 500 Square Metres (JE—WW‘ITSNW'
Direci Labour vl 2x§21.00 %2 500 = $105 000
Standard Cost of a Batch of Foam Mats Overheads I— 42821522500 =310 TS0
Standard Cost of a Batch{of Foam Mata | $1615 75
Cost of Making One Foam Mat | $1618 75072 500 = $640.90
@ Requirement B
Fixed Overheads $83 150 2 _{
Predetermined Fixed Overhead Rats Machirm Hours S | g S1000 .
363 750751 000 z | $12§ i | =
i Variable Overheads 3 I ; #44 000 z ; —
51000 |
Predetermined Variable Overhead Rate | Machine Hours ' e
L) | ~§48 000751 000 | W50

PORTRAIT
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Question 8 (17 marks)

Celebrity Catering Pty Ltd, located in Cottesloe, provides continental cuisine for the VIP boxes at major
events. They have been asked to quote for the upcoming World Cup qualifying match and have
estimated the following

Catering Kitchen

Overheads $140 000 per month Allocated by oven hours
Direct Materials $80 000

Direct Labour 150 hours Rate is §25 per hour
Equipment (Oven) Hours 100 hours

Catering Service

Overheads $180 000 per month Allocated by direct labour hours
75 workers for an average
of 20 hours each

Direct Labour Rate is $15 per hour

Additional Information:

* Expected direct labour hours per month is 6600, which consists of 6000 hours for the Service
Department and 600 hours for the Kitchen Department.

+ Estimated ovens hours per month is 2000.

Required
(@ Calculate the predetermined overhead rates for both the kitchen and service sections of the
business (4 marks)
Workings:
Kitchen Department
Budgsted Overhead
Predetermined Cost 140000 | s7operoven o s
Overhead Rate Budgeted Oven 000 Hour
Hours
Service Department
Budgeted Overhead | 4000
Predetermined Cost $30 Per Direct |5 0 ]
Overhead Rate Budgeted Direct 5000 Labour Hour
Labour Hours

Predetermined Overhead Rate for the Kitchen Department: $70 Per Oven Hour
Predetermined Overhead Rate for the Service Department: $30 Per Direct Labour Hour
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(b)  Calculate the total cost of catering for this function (11 marks)
Workings:
Kifchen Department
Direct Materials $80 000 1 mark
Direct Labour 150 Hours x $25 Per Hour $3 750 2 marks
Overheads 100 H°‘"s|’_‘l :;’:’ Per Oven 7000 2 marks
Total $90750 1 mark
Service Department
75 Workers x 20 Hours
Direct Labour Each = $22 500 2 marks
1,500 Hours x $15 Per Hour
1 500 Hours x $30 Per
Overheads Direct 1 abour Hour $45 000 2 marks
Total $67 600 1 mark

Total Cost of Catering this Function: $158 250

() If Celebrity Catering Pty Ltd has a mark-up of 120%, calculate the price to be quoted.

Workings:

(2 marks)

Price To Be Quoted:

$158 250 x 2.20

I $348 150

2 marks

Price to be Quoted: $348 150
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Question 9 (11 marks)

Petersen Pushbikes makes bicycles in a factory at Geraldton. They make two models, the Jackflash
Racing Bike and the Alpmaster Mountain Bike. The production costs and sales are estimated to be as
follows:

Jackflash Alpmaster
Direct Materials Per Unit 582 $70
Manufacturing Labour Per Unit 3hours @ $40/hour | 3.5 hours @ $407hour
Estimated Annual Production 2000 units 3000 units
Budgeted Selling Price $550 $450

Fixed costs are estimated as follows

Manufacturing Overheads
Factory Rent and Maintenance Costs $102 000
Supervisor Salary $162 000
General Overheads
Salaries and Wages $240 000
Marketing Costs $125 000

Manufacturing overheads are allocated on the basis of labour hours. The total number of labour hours
expected to be worked in the year is 16 500 hours.

Required
Calculate the standard cost per unit of both models (11 marks)
Workings:
Wanufacturing Overheads
Budgeted Overhead
Predetermined Cost 264 000 $16.00 Per Labour
Overhead Rate Budgeted Labour 6500 Hour
Hours
Jackflash
ct Materials $82.00
ect Labour (3 Hours x $40.00] $120.00
Overheads (3 Hours x §16.00) $48.00
Total Cost $250.00
Alpmaster
ct Materials $70.00
irect Labour (3.5 Hours x $40.00) $140.00
Overheads (3.5 Hours x $16.00) $56.00
Total Cost $266.00

Standard Cost (Jackflash): $250.00 per unit
Standard Cost (Alpmaster): $266.00 per unit
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Question 10 (8 marks)
A company manufactures skirts. The materials used are cotton fabric, buttons, labels and threads. The
cotton fabric is regarded as direct materials, while the buttons, labels and threads are indirect materials
and part of the manufacturing overheads.

The standard cost of direct materials is $12.50 per metre, while the actual cost of direct materials is
$12.70 per metre. The company purchased 25,000 metres of material

The standard material quantity is 3.1 metres per skirt. The company manufactures 2,000 skirts for the
month. The actual quantity used is 6,500 metres

(a) Calculate the direct material price variance and comment on the reason for the variance.

(4 marks)
Workings:
(AP - SP) x AQP
Direct Materials Price Variance = [Tjg (Actual Price of Input — Standard Price of Input) x Actual
Quantity of Input Purchased
Direct Materials Price Variance = ($12.70 - $12.50) x 6500
Direct Materials Price Variance = $1300U

Direct Material Price Variance: $1300 U

Comment: The reason for this variance is the actual price of input ($12.70) was higher than the
standard price of input ($12.50) by 20 cents which, with a production level of 6500, impacted the
final costs to the tune of an extra $1300.
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(b) Calculate the direct materials usage variance and comment on the reason for the variance.
(4 marks)
Workings:

(AQI - SQA) x SP
ie. (Actual Quantity of Input Issued — Standard Quantity
of Input Allowed for Actual Output) x Standard Price of

Input
Where SQA = SQ x AO.

ie. Standard Quantity Per Unit x Actual Output in Units
Produced

Direct Materials Quantity (Usage)
Variance =

Direct Materials Quantity (Usage)

Variance = (6500 — 6200 (3.1 x 2000)) x 12.50

Direct Materials Quantity (Usage)

Variance = $3750U

Direct Material Usage Variance: $3750 U

Comment: The reason for this variance is the actual quantity of direct materials used (6500
metres) was higher than the standard quantity of direct materials allowed (6200 metres) by 300
metres which impacted the final cost of the materials to the tune of an extra $3750.
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Question 11 (9 marks)
A company manufactures skateboards. The standard rate of the company for direct labour is $25 per
hour. Each skateboard should require 20 hours of direct labour to manufacture. Last month the
company made 600 skateboards. The actual direct labour consumed was 14 000 hours at $24 per hour.
(a) Calculate the direct labour rate variance and comment on the reason for the variance. (4 marks)

Workings:

(AR - SR) x ADLH

Direct Labour Rate Variance = ie. (Actual Rate Per Direct Labour Hour Worked —
Standard Rate Per Direct Labour Hour Worked) x
Actual Direct Labour Hours Worked

Direct Labour Rate Variance (24.00 - 25.00) x 14 000

Direct Labour Rate Variance = ($14000) F

Direct Labour Rate Variance: ($14 000) F

Comment: : The reason for this variance is the actual rate per direct labour hour worked ($24.00)
was lower than the standard rate per direct labour hour worked ($25.00) by $1.00 per hour which
impacted the final direct labour rate to the tune of saving the business $14 000.
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(b) Calculate the direct labour efficiency variance and comment on the reason for the variance.
(5 marks)

Workings:

(ADLH - SDLHA) x SR

fe. (Actual Direct Labour Hours Worked - Standard
: . ) Rate Per Direct Labour Hours Allowed For Actual
Direct Labour Efficiency Variance Output) x Standard Rate Per Direct Labour Hour

Where SDLHA = SDLH x AO

ie. Standard Direct Labour Hours Allowed Per Unit x
Actual Output in Units Produced

Direct Labour Efficiency Variance = (14000 — 12 000 (20 x 600)) x 25.00

Direct Labour Efficiency Variance = $50 000 U

Direct Labour Efficiency Variance: $50 000 U

Comment: The reason for this variance is the actual direct labour hours worked (14 000) was
higher than the standard direct labour hours worked (12 000) by 2 000 hours which impacted the
final direct labour efficiency to the tune of costing the business an additional $50 000 to cover

the extra hours.
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Question 16
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Example 5.5

Belmont Bakery has costed two flerent
make one. The management mug: choosgmdmts but the factory only has the capacity to :
which one to produce. :

AR B G AR R G TSN S A R

.................
.........................................
LR R TURT S O TP

"ﬁ{é'c'i"&;é't's' ....................................................................................................... 1t $Bk e wweaihs ol 9 =
Profit = (S X X) — FC — (VC X X)

. Cakes  Profit = 10 X 10000 units — 20000 — ($4 X 10000 units) :
. i = 100000 — 20000 — 40000
: i =$40000

............................................................................................................................

+ Muffins Proflt = 5 X 15000 units — 20000 — ($2 X 15000 units) :
: : = 75000 — 20000 — 30000 :
: = $25000 :

* From this it can be seen that, "at maximum production, cakes will make a significantly better profit
. than muffins.

BREAK-EVEN

: Cakes : Profit = 10 X X units — 20 ooo ($4 X Xumts)
00 =10 = 20000 — 4X
: i 6X = 20000
: X=3333unils
Muffins Proﬂt b Xumts 120000
i 0=5X—20000—2X
aX=20000
X = 6667 units
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gher, both absolutely and proportionately, than that for o, . |

The break-even point for muffins is hi

p=>3
—
==

MARGIN OF SAFETY ‘ E .

: 0000 — 3333

Cakes i  Expected sales volume — break-even - L___(_)_(_)_@__
Expectodicales VOIMIE AR o e -

...................................................................... ey . e ..

Muffins i Expected sales volume —
Expected sales volume

Once again, cakes outperform muffins.

CONCLUSION .
On all three bases of analysis, the strong indications are that the firm ShOU\ G
than muffins. Of course, any changes to costs, selling prices or market sizi

and the calculations would need to be re-done.

Margin of safety :
Margin of safety = Actual or budgeted sales — break—é%

Formula 5.5
Margin of safety percentage

Margin of safety percentage = _Margin of safety i
Total actual/budge

n..-.l__‘._ b @R
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